In an HA cluster operating in active-active mode, which path is taken by the SYN packet of an HTTP session that is offloaded to a secondary FortiGate?

A_ Client » secondary FortiGate = primary FortiGate > web semver

B. Client > primary FortiGate » secondary FortiGate > primary FortiGate > web server
C. Client = primary FortiGate > secondary FortiGate > web server
B

. Client = secondary FortiGate > web server

Answer: C

Which two statements about NTLM authentication are correct? (Choose two.)

A It requires DC agents on every domain controller when used in multidomain environments.
B. It is useful when users log in to DCs that are not monitored by a collector agent.

C. It requires NTLM-enabled web browsers.
B

. It takes over as the primary authentication method when configured alongside FSS0.

Answer: BC

MNGFW mode allows policy-based configuration for most inspection rules.

Which security profile configuration does not change when you enable policy-based inspection?

A, Application contral
B. Web filtering

C. Web proxy
D

. Antivirus

Answer: D



Refer to the exhibit.

Field Value

\ersion V3

Serial Number 98765432

Signature algorithm SHA256RSA

Issuer cn=RootCA o=BridgeAuthority, Inc., c=US

Valid from Tuesday, October 3, 2016 4:33:37 PM

Valid to Wednesday, October 2, 2019 5:03:37 PM

Subject cn=John Doe, 0=ABC, Inc.,c=US

Public key RSA (2048 bits)

Key Usage keyCertSign

Extended Key Usage Server Authentication (1.3.6.1.5.5.7.3.1), Client Authentication
(1.3.6.1.5.5.7.3.2)

Basic Constraints CA=True, Path Constraint=None

CRL Distribution Points | URL=http://webserver.abcinc.com/arlcert.cr|

According to the certificate values shown in the exhibit, which type of entity was the certificate issued ta?

A Auser

B. Aroot CA

C. A bridge CA
D. A subordinate

Answear: A



Which condition must be met in order for a web browser to trust a web server certificate signed by a third-party CA?

A

The private key of the CA certificate that is signed the browser centificate must be installed on the browser.

B. The CA certificate that signed the web server certificate must be installed on the browser.
C.
D

The public key of the web server certificate must be installed on the web browser.

. The web-semer certificate must be installed on the browser.

Answer: B



